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1. Draw the Free-Body-Diagrams for the following problems, assuming materials are uniform

and have gravity on earth. Please neglect friction forces.(20%)

a. Free-Body-Diagram for the bar b. Free-Body-Diagram for the bar

“ P
DY.;

d. Free-Body-Diagram for the bar, with A slide

freely along x axis

2. Member AB as shown in Fig. d Problem 1, is supported by a cable BC and a A by a square
rod, which fits loosely through the square hole at the end joint of the member as shown.

Determine the components of reaction a A and the tension in the cable needed to hol!d the

800N cylinder in equilibrium. (30%)
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The rigid beam of negligible weight is supported horizontally by two springs an a pin. If the

springs are uncompressed when the load is removed. determine the force in each spring when

(U'S)

the load P is applied. Also, compute the vertical deflection of end C. Assume the spring

stiffness k is large enough so that only small deflection occur.(25%)
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4. The boom supports the two vertical loads. Neglect the size of the collars at D and B and the
thickness of the boom, and compute the horizontal and vertical components of force at the
pin A and the force in cable CB. Set F1=800N and F2=350N. (25%)




